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yx80% 100 tx (1 -10% )
100 _ 26 y=200.9 t

yx80% 100 t(1+10% )

B (1) %A KA BIEEE R 80% 5 (2) T 224 KA R
%1 200.9 i,

S(1)2.2 (2)fR: % 6 gilkBEH Na,CO, HYFH «
Na, CO, +2HCl =—=2NaCl + H,0 + CO, 1

106 44
x 2.2¢
106:44 =x:2.2 g
x=5.3g
1P Na, CO, 1) 3152530 50
563ggx10017 =88.3%

% aURE T Na, CO5 B BT 5340k 88.3%
(3)NaCl HCL
LR ESE
1.D 2.A 3.B 4.B
5.B Jahtkh 7:4 1) CO F1 0, 5§
6. A B WM ENEASR
7.(1)Cu.C.O.H (2)15
(3) fiff : B S B i A WL AR B BT 1R y
CO, +Ca(OH), CaCO, | +H,0
44 100
y 20 ¢
44/100 =y/20 g
y =44 %20 g/100 =8.8 ¢
& LR R A A L T A AR TR 8. 8 g
8.(1)4.4  (2)f# . &iAHET K,CO, TNy »
K,CO, +2HCl ==2KC(I + H,0 + CO, 1

138 44
x 4.4 ¢
138/44 =x/4.4 ¢

H.x=13.8 ¢

13.8

2 AR BRI BT A BT 43 R 20%
9. (/T AR EAK  (2) 5% 20 ¢ R
Hf A 245 Na, CO, YT A »
Ca(OH), + Na,CO, ==CaCO, | +2NaOH
106 100

x S5¢g
106/100 =x/5 ¢ x=5.3 ¢
%20 g 15 8 A 2 5T Na, COy 1Y T 23 B0

53¢
20 g

211220 g R P A 245 Na, COy 190 BN
26.5%

x100% =26.5%

10. (1)0.30
(2) fif  BEECHRAE i h B B B %
Zn + H,5S0, =—7nS0, + H, 1
65 2
x 0.3¢g

65/2=x/0.3g x=9.75g
BRS04 S B



# ZE L Z LT

(20-9.75) & 1000 =51.25%
20 g
(3)109.45
S BXBARPARNRESENITE
B 8
1.19.65%
2. fift BRI B K A B &
21,021 1 40,1
36 4 36/x=4/1 g
x lg x=9¢g
L fFR 5 T PR VA VAR P 8 I o 43 8
45 gx8% 1000 =10%
5g-9¢g
P < VLSRR L R Y VR 1) I B A 43 B0 10%
3.(OAFE 15
(2)fi# : % Na,CO, 5 CaCl, 5z i 4= i NaCl,CaCO,
Y BT s 43 oA %y
Na, CO; + CaCl, =CaCO, | +2NaCl
106 100 117
15 kgx21.2%  « %

106: 100 = (15 kg x21.2% ): x
106: 117 = (15 kg x21.2% ) y

x=3 kg y=3.51 kg

A 7 A P S B Y T O 438

3.51 kg
12 kg + 15 kg - 3 kg

B T DM A A B N AR

x100% =14.6%

oAl 47423

1.
5.
6.
7.

B 2.C 3.D 4.A

C JIA 2.2 g NaOH [El{A%%

4 2 7.6%

(1)450

(2) fif A AL BaCly, MR «, A IR ER AN
WA BT BT y

BaCl, + Na,SO, —=2NaCl + BaS0, |

208 142 233

x y 3.3g

208/233 =x/23.3¢ 142/233 =4/23. 3¢
x=20.8 g y=14.2 ¢

Ozt PR A I BT 04

10. (1) &

W
o
i
bis

20.8 g/26 g x100% =80%
QF LB 1) o
14.2 ¢/10% =142 g

A(DLO 1.6

(2)fiff: (2)BL68.0 g i AL S P & AT i AL
F‘?’iﬂv x

«r

)

2H,0, 2H 0+0,1
68 32
x 1.6 g 68:32 =x:1.6 g
x=3.4¢
1o A A R R A T R
%& x100% =5.0%
(3) TR AT r P IR 14 S5 o 53 4
67.4 g —51'.60gg 15,6 ¢ 100% ~7.8%
% o
.(1)4.4
(2) fiff - BERE S R BR AN (1 B8y o, SO A B NaCl
i y
Na, CO, +2HCl ==2NaCl + CO, T +H,0
106 117 4.4
x y 4.4

x=10.6g y=11.7g
B TR AL BT R 13.9 -10.6 =3.3(g)
SRS R BB 11.7 +3.3 =15(g)
SN SR RN 13.9 +90.5 —4.4 =100(g)
S84 SV BT A VR o 1 o 04

15g -1
T 00% =15%

& W
[AEALBEW (2) ik W BB A A
(3) f# A5 b FoRIMA G ALV W T i, A
J NaCl ()i hy
NaOH + HCI NaCl + H,0

36.5  58.5

Ma g x
36.5 58.5
Mag™  «x
58.5Ma
36.5 ¢

- C RN

Sox =

JiR o

B ZIEMS - 1S
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11.

58.5Ma
36.5 5850Ma
M+b) g 100% =36 S (M)

5 b FRIMA G A A AT T AV s A 8K
Pz i NaCl B 524 «, i A S8 A0 BV T 1Y) I

HHNy
NaOH + HCl ==NaCl + H,0
40  36.5  58.5
by Ma g x
36.5 _58.5 40 _36.5
Mag «x by Mag
58.5Ma 40Ma
~36.5 & 7736.50°
G P T i B0k
52.651;4(15, 585ab
G B0 0% 560 a0a ™
36.5b
B W

(1)0.4  f#: (2)i% 20 g IREGWHRATER «,
S B R 58 4 RN AE B FeSO, (TR
Fe + H,80, ==FeSO, + H, 1

56 152 2

x y 0.4¢
56/x =2/0.4 ¢ x=11.2 ¢
152/y = 2/0.4 ¢ y=30.4 g
R B4 R YRR

20g-11.2 ¢

20 ¢ x100% =44%

)BTRS, 20 g IRA Y5 50 g MR 58 4
NAE LY Hy 2924 0.2 ¢, IHFEIER NS, 6 g, 2E Ik
FeSO, i A 15.2 g,
BEMAIKI BT A 2,

30.4g+15.2 ¢
269.6 g-100 g-8.8 g+5.6 ¢-0.2 g +z

=10%
2=289.8 ¢
I IR A 289. 8 g K,

Sy ARG

HEBTE NS —

x 100%

1.D 2.A 3.C 4.C 5.A 6.C 7.C 8.D 9.C

10.B

AR 1LB WBREAE

%

EER -

12
13

14.
15.
16.
17.

18.

19.

20.

21.

22.

23

1.

W
o
i
bis

.C B TEMAmINA Q%

B B ik e R A TR N BUMUIE

(1)Ca’* (2)NaCl% (3)8

(1)30, 4 (2)C.D A

(DA (2)D (3)# (4) Tk

(1)7k 47 (2) +6  (3) CaCO, +2HCI
CaCl, + CO, T + H,0 3 Mg(OH), + 2HCI
==MgCl, +2H,0

(D)W (2) 4 FEARWZS AR SEHS
HEARTE 74

MnO,
(2)2H,0,——=2H,0 + 0, 1

(1)H,0
(3)2®
(1)WAFST  (2)abdh ((# abdfh)  HH K2R
ARAEMALES A ARZ RN AR

A
(3)2KMnO,=—K,MnO, + MnO, +0, 1

BIE

(1)4p +502ﬂ21>205 @
(2) Hffk 328 (3) FEXTHR
[V A A8 ] BBORE, in A f2 288K, SRR JE R
MEM [T ] (1) AR s A sk
WA (2) RS Wi fig, 308 A L E
CaCO, +2HCl CaCl, + H,0 +CO, 1
€N L
(D) BEA AR O, F1 NaOH (4 B & 43 91K « Fl y
2Na,0, +2H,0 —4NaOH + 0, 1

156 160 32

78g y x
156 _160 _32
g vy  «

SR o 168
0, FERIERBE T IIRE 2 oL =11 L

(2) NaOH %3 NaOH 1 BT 73 50Ch

80 g
78 g+33 g-16¢g

el
RERTEIRNET

D 2.C 3B 4A 5B 6.A 7.D 8.C 9.C

x=16g¢g y=80g

x100% =20%

10.B 7o

11

CA BRI R B 140. 1 4

12. B FON )R A A A — S A, A i B —
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13.

14.

15.
16.

17.

19.

20.

21

22.

23.

I.B 2.C 3.C 4B 5.D 6.A 7.C
10.
12.

(1) AR

SRR

C CuO+CO

17 i

Cu + CO, 2

(1)@4N  (Q2Fe** @Mzgo
Q) O—1TEASFPER 2 A MERT
Q— BRI B T 2 A~EAA Y it L o
(1)3 (2)Li Na NaCl
(DHMg™* (2)A1,0,  (3) f1 4@ & it 1 ) 4E
R
HEALH

(1)7:16  (2)2NO, +4CO =——==— 4C0, + N,
(3) fbZ: RN JR TR RPN AR 5

.CO, +2LiOH ==Li,CO, + H,0 Wi 2% & & 1)
CO, 7522 LiOH kb NaOH /5 £

(L) Beky €O, (2)FEHRERRL

(3)3Fe +20, @Ft@ 0,
(DZEHWARISE TR, A A EE Y
B HRORBEF A BTN T (2)Zn +2HCl —
nCl v 1, 1 (3)SER I 2 N BT
RN K H AR AR AT A U

(4) 5256 1 b REKE B A5 T0CTE 2 T 1 42 i e rh s |
R, AR

KBTS E
(2) Cu, (OH),CO,=2=2Cu0 + H,0 + €O, |
(3)2:1 128:222
(1)Fe,0, + 6HCl =—=2FeCl, +3H,0
(2)Fe’™ H* (3)Fe’ i) A1k ik
a3 AR A R N RS I A2
()44 (2)fF .kt K,Co, BEN «,
K,CO, +2HCl —=2KCl + H,0 + CO, 1

138 44

x 4.4¢
138 44

x 4.4

13.8 ¢
69 g

A IR T BRIR B 14 B 2 B0k 20%
HERTEIRNE=

x=13.8 ¢

x100% =20%

8.D 9.C
B RERESE 11.C INASERSN AL
B BRI A AR

HE U FFIEM -

14.
15.

17.

18.
19.

20.

21.

22.

23.

1.

W
o
i
bis

B AR Rk AR AR L s A
ALO, Fe** Si
(1) F#H (2)EH#H
(3)3C0 + Fe, 0, 28 ke 4 30,
DR RgER RN AERHRRKREY R
T WA
(2) P im R E R R G KT
(1) CH, +50, 22300, vam0  (2) 0,0,
(3) T4 G, H,
TR R A.C.D 37.5%
(1)Fe,0, Cu0 (2)C CO
(3) Fe + CuSO, ——=Cu + FeSO,  (4) L2 T I
(KSR (2)A BHERB KR, HE
KHELT (3)DOB.C Q¥ AA HC Rk
S5AKKEI (EEEHMAED) (4)QFAHIK
KENRADOH, I 7= H Tl
(1) 3k 6 PRI sz I 1 4 fk T RELA [ T 2 i S 6 B 4
()< ) &mmnimyr ik
(4)3Mn +20, 28N 0, (5) BpELr Bk
Fithir RO KRLRIE BEHRKEHE
e, A RENRME AL
()5S PR SFK AN T %%
(2)3C0 + Fe, 0, ===2Fe +3C0,
(1)4.4 ¢
(2)w(CaCO,) =83.3% <85% , FAF&ER
(3)34<a<40

RERTESmNEN
C 2.C 3.C 4A 5B 6.A 7.D 8B 9.D
B WIS 11.C WIME AL A RS
B HRLAE
B 3 S TR M YR R 8 T A AL ) TR
L(1)C (2)OH™ (3)CaC0O, (4)Ca(ClO) ,
(DD (2) AL ) HREMEK (4)C
OB R () IRIREE  (3) FAfbE B
(4)A
.(1)Ca(OH), HCl (2)VE WA MR F%
(3) B g =

(4)Ca(OH), + CO, = CaCO, | +H,0

17 -
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o}, 2NaOH + CO, ==Na, CO; + H,0
B.(H® ()& GHOHD (4D
19. (1) 2NaOH + MgCl, ==Mg (OH), | +2NaCl
Na,CO, + CaCl, ==CaCO, | +2NaCl
(2)H,80, (4)C
20. (1)2NaOH + H,S0, ==Na,50, +2H,0  JHZEIFjL
FES b (2) SRR M B A By B A
At (3) OBCRE, NS a8l pieLr
R QWU RN O AR
el
S LARTEREARR ISy AR A, BATROK
AR 5256 2. K,CO, + Ca(OH), =—=CaCO, | +
2KOH 5286 3. (D A5 1 Wi 5L PR Qi A T A1 K
IKOMAAMIER OA TR EQAVIEER
OFVIHEAMR  KOH 1 K,CO; [ FUE ] Mfehb sz
R CHA S B 22850
22. HURRBRA R (BBLER Z AT K 945 )
BRI SRR T (1) WF[E]
Bl (LA JpH)  (2)C
23, fif% - (1) A= BCICHER ST A o, SRS OB F) o
Ay
Ba(OH), +H,S0, ==BaS0, | +2H,0
171 98 233
171 x1% y x
171/233 =171 g x1%/«x x=2.33g
171/98 =171 g x1%/y y=0.98g
(2) MR Tt Sy e A, IR K R At o «
268.67 g+2.33 g-171 g =100 g
T HERA K BRI R S KO -
0.98 g/100 g x100% =0.98%
K8

2

[

%

o
=]
=l
[ird
%

HELHEE NS —

1.C 2.D 3.A 4B 5D 6.C 7.A 8.C 9.C
10.C 2H% 1A Gss% 12.A WS5mES
13.C Ca0, %

4. ()P () =ARET  (3)Si0, (4) BT

(5)AL (50,),
I5.(DAC (2)2:1:2 (3) LA SRR R I R
A A A

16.(1)Ne 32.06 (3)Na S~ [HE+

o
o
o
¥

3
o
i
bis

17. (1)FeTiO,  (2) Fithmass

18.A>B C>B ikl A5 C MRN8 i stk
WY KR A A C WENRIR e &SR C A
A PERS

19.(1)H,0, (2)2H, +02ﬂ 2H,0
(3) 53 FHI AT

20.()A.CD (2)C (3)A
(4)Na,CO; +2HCl ==2NaCl + H,0 +CO, 1
(3) BT 2 By 53 B [R5 g s N A
SR LR AE R P 02528 T A T B

21 (1) KGF AR BRI, Bt LK SR
Bkl (2)S077 CuCl, % ot (3) kel
JTR T ER A AR

22, (1) THEET KA RO B IR AS B I A 43 A R i B
Q) $& TREAT JHamiRE  (3)A C
(4)Ca(OH), +2HCl ==CaCl, +2H,0

23, fife: (D) ARIE PRSP E AT CO, MITTH N
9.0+75.4-80.0=4.4 g
(2)15& NaHCO, (5T « , £ i NaCl (95 v

NaHCO, +HCl ==NaCl + H,0 +CO, 1

84 58.5 44
x y 4.4 ¢
84:44 = x:4.4 ¢ x=8.4¢

FEh T NaHCO, (T3 40H
8.4+9.0x%x100% =93.3%

(3)58.5:44 =y:4.4 y=5.85¢g
e NaCl (FiE 5 9.0 ¢ —8.4 ¢=0.6 ¢
NaCl {5 )i =0.6 ¢ +5.85 g=6.45 ¢
Mo

RELEIE SIRNE=

I.LA 2B 3.A 4D 5A 6.A 7.D 8D 9.D
10. B AL
LA 8 12 TSR L2 241
12.C FERRGRIRSE 13. A JIEEMFRENER G185
4. (DESEESF  (2) B
(3)2CH, COOH + CaCO, Ca(CH,C00), +CO, 1
+H,0
15. (1)S0;"
16. (1)Li*

NaHCO, (2)Zn’" W%

(2)72:11  (3) AR (Bl JRibESE)
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17. () B ET  K,CO, +2HCl = 2KCl + H,0 +
CO, T8 (2)FurdT  (3) Wtk

18. (1) BRI AT BRI IR B 5408 (2) I RT3
FERA PN A U, O P R /N, K B T

LA ORIEM AR S (3) S
B R ARV
19 (D FHWF (2)Fe0, (38

(4)Cu(OH), + H,80,—— CuSO, +2H,0
20. (1)

il

(2)2KMnO,=—=K,MnO, + Mn0, +0, T &40
WIS E W BN R 4 A SO iy 2 UK HE
(B — R BT 4r)  (3)AD AR A
T A OK A AR, 2 CO,

21 [VEHAEAR ] A B R /NS TR (B Bt i AN ) 8
g T i AN )
(T SE8e ) (1) RIEI S ¥ 55 4 £ ]
(2) BB A BORIE [ B2iat il i ] AR TR i i)
WA B — S A i (A AR ( SO AH ) R R — S A ik
) (R RAEM] R AR R
o7 2t 5B B R R

22.(1)Zn +2AgNO, == Zn(NO,), +2Ag (2)fHM
B IER AN RRAR  (3) B E IS T IRE
TEISH P Im A — IR 22 (S ) W23k
A ©

23.(1)0.2g~0.4g 1.495g 1.095 g
(2)1.095 g
i 200 E 2 KRR B N BRI, AR TR A

HELHEIRNE=

1.A 2.D 3.B 4.C 5.A 6.B 7.B 8.C 9.C

10.C ZERML G (BREHEWT)

11.B  FIAE KX GNHOKFREK (B HE)

12.B ] pH {40 2 Sl A AL SN W Y pH SR 1)
AR AR GRRR , pH B Wi/, e &N F T

13.A ¥ Fe 251N A %] ZnS0O, . CuSO, W H ( &
KPR )

14, YRERWR 5 5 %, HidI 1) CO, A4l
(L5450 () OFESH, #REE OF
A TR =R CO,

(2) CaCO, +2HCl CaCl, + H,0 +CO, 1
(RS TRE] (1) fl R L (R A

W
o
i
bis

Wn))  (2) RRREAIVE P2 A K CO,
15. (1)1/10  (2) = ARG 5 5 R 40 09 42 fil 10 AR/ DN
FAERAE  3)FESE (HAR
16. (WAAK (2)EH (3)AKK
Ca(OH), + CO, =——CaCO, | +H,0
17. (1) $EkE (2) ABC

(3) MnO, C+0, ﬁcoz (4) 4
18,8 () srTEAKEs Ak M)
(2) BB BRI AR (3) B HRAF
19. (1)Na,CO; (2)HNO, NaNO, .Ca(NO;),
(3)BaCl, A HEUE™E BRI
20. () MfiiE  C  (2) WKalEsr
) FEER R TSR IIKER
(4)NaOH W Wi
21 ()& IR R XY 435 A P 38 T, T4 03
JIMAFGELIR (BARERIR)2 mL 1E#f
(3)5  Fe +2AgNO,—— Fe(NO, ), +2Ag
(4) Eh1R (SR AR R )
22. (1)NaOH
(2) Na,CO, +2HCl == 2NaCl + H,0 + CO, 1
(3) DB @C B®FE @BCD
23. (1)(MCa(OH),, @ CaCO,,B®Ca(OH), CaCO,
(2) i B & A Ca(OH), W& N «
Ca(OH), +2HCI CaCl, +2H,0
74 73
x 7.3 ¢x10%
74/x=73/7.3 gx10% x=0.74 g
WIRES T Ca(OH), HYBTREZMECH

w[ Ca(OH), | J%xm% ~74%

% Rl Ca(OH), (RS HC 74%
FEEAE S RNEN

1.D 22A 3.B 4A 5C 6.B 7.D 8D 9.D

10.B CO% 11.A FHaEKEL

12.C RERASE

13.B  FHVEGIBR R AIR L v 45

14.(1)ADEF (2)G (3)F (4)G

15. (H)&EHABK (2)CH,0, (3)4EERC
(4) St (i)

16. (1)KFT  (2) FEABE )

RELFEIHIEN - 19 -
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R
(3)CH, +20, ngzo +CO,

17. (1) R AW (2)AB.D

18.(HO® (2)KFedEix 3)AAREEER
A R TETAR RS T 785 AR 26 A S AR
IR R ARSR R B 7= A= 1y Biui 5 AR 5
(4) Bk e S KR

19. (1)CH,  (2) ZHe
(3)2C,H, +90, iﬁwzo +6C0,

20. DR A BRI E KL QPR AR

AEEA M (1) EERACEBy 1k A 1 R
TGYIRET)  (2) Genl Uk (Bs 1L 2E 7 hilh)

R
(3)4P +50, ==2P, 0,

21 () BRE LK (2) DA EIRYUEL
HCI + AgNO,=—=AgCl | + HNO,
@CO0, +Ca(OH), ==CaC0, | +H,0

22.

23.

S

EER

(e ()it QKA R
S A5 2 ) 2 L B T A
BCaCO, BB a0 4 O, 1 @i 4
WA RS TR (3) Kb
f#:(1)V=m/p=0.73 ¢/ (1.1 g/mL) =0.7 mL
(2) i 7 — AL RE TR

2HCI + CaCO, CaCl + CO, T +H,0

73 44
36.5 g x 10% x
73/36.5 g x10% =44/x x=2.2 g
(3)50:1

% (1) VHFERR MR AT 0.7 mL; (2) A 4k
I TR 2.2 g5 (3) ™ A AUk 1 T 2 LY 2
50:1,



